
Mark / 12 %

1) Work out [5]

2) Write the missing numbers.

           8 −  = 

[1]

Mixed subtraction
Name: Class: Date:

 

     a)      13 − 11     

     b)      23 − 9     

     c)      35 − 11     

     d)      979 − 431     

     e)      940 − 225     
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3) Complete the subtraction table

     

− 11 15 14 5

19 8

18

17

20

[1]

4) Dakota is 44 years old and Justin is 12 years old.

What is the difference in their ages?      years

     

[1]

5) Three numbers are used to make this number sentence

20 + 16 = 36

Use the same three numbers to complete the number sentences below

+ 20 = 36

− 20 =

− = 20

     

[1]
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6) Use the number line to find the difference between 427 and 671.     

     

671427
 

[1]

7)      53 subtract 22     

     

[1]

8) Use the number line to find the difference between 44 and 59.     

      
5944

 

[1]
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Solutions for the assessment Mixed subtraction

1)  a) 2      b) 23 − 10 + 1 = 14

     c) 35 − 10 − 1 = 24      d) 979 − 431 = 548

     e) 940 − 225 = 715 2) any two numbers that sum to make 8 e.g. 1 and 7

3) 
8,4,5,14
7,3,4,13
6,2,3,12
9,5,6,15

4) 32 years

5) 
16 + 20 = 36
36 − 20 = 16
36 − 16 = 20

6) 244

7) 31 8) 15
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